Section f-\ ()%pe_r 2_)

L. () Fectorisefully 4x’—6xy

| 2(4%_63),—9 @mmkm::@ |
2,(212,__ 37Cj> --P@ _” ’

(b) Factorise 22+ 556

Mior. |Gc —O( 2= (x-s7e=0)
M/Q-QOOU Ao . { 9(~+3)((I+2_) = (z* +Sx+£>

@ wosk ) b (x+ £

_(c). | Factorise xz-g(k ‘ |
. /W\,Q“WWS}_ P(OHQM/’LOJIQ L (9(-3)C9C+3) o

(Total 5 marksy

2. (@) Smplify & xof

(b)  Simplify 3’y x Sap>

@ ’L/\/@ @)

() Simpiify U

x-1

) JE;
(Total 4 marks) ! :

.
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3. Billrecorded the times, in minutes, taken to complete his last 40 homewarks.

This table shows information gbout the times.

20K e
Time {¢ minutes) Frequency {r\ \ M c:?

20<1r <25 8 22-S ” | exvor.
25<r<30 3 27.5 7
3051<33 7 2.5

35<i<40 7 g?

40 <1 <45 15 42-S

(2) Find the cless interval in which the median lies.

<. <uo
5. L b sl %n

(b) Calculate an estimate of the mean time it took Bill to complete each homework. g 37 <
o 2.5 2T2 s cers

| HQ_QM e -5 X8+ 217.5x3 7‘7/2\:/5(_—7_—1" IW’I"“LQ’S%LS

0 oy
40
ok C/ - @
(D o 130 s L.
Yy~ )
%Of § 40 : (Total 4 marks)
E%of'a@ﬁw -
Ao r@-u,MCZEO”MWm le
35X
ok adtrw 248 ]
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4. Sendra carries out g survey of 90 Year 10 students. |
She asks them their favourite snack

She draws this ACCURATE pie chart.

Favourite snack in
Year 10

Diagram accurately
drawn

Use the pie chart to complete the table., ) m
Favourite snack / R é

in Year 10 Fregquency 2 20 x 3 £C
Burger 20" 80""‘/»\ _"‘-{E)-_ /ﬂ®ﬁ
Chips 45 | 180
Hot dog P QO 0 e _ —_
e N I 0 L gak wa@dAm

{Total 3 marks)

4@: _.E———- ng
90 ..

X D) or equiveliad
= 43%clo O omem%

4

® |

Alieyn's School




14.04 ke 14.05 kg 14.4kg 14.5 kg 14.9 kg

A B . C @ E
S 7 ; g;otal 1 mark)

Cinemsa Ticket Prices
Adults £4
Crild £3 J

An adulf ticket costs £4.
A child ticket costs £3.

(a) Write down a formula for the totel cost, £, for n adult ickets and ¢ child tickets.

L nN+3C

0 T=4n+3%
_ 3]
Hina spends £47 on cinema tickets.
She buys & adult tickets.
(b}  Work out how many child tickets she buys.
@) 47 = 4%8+ 3C
4T+ = 32+3C
{Total 4 marks)
C=5
5
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Diagram NOT
aceurately drawn

' ABCDEFise regular hexagon and 4BOP is a square.
Arngle CBQ = x°,

Work out the valne of x.
| J(;m?. O"ﬁu:i%@' = 1202:®
rLVGVU"
7 lodl x- 36o- (Aot ) Q@
| x = tsa® (O |

-(Total 3 marks)

Alleyn's Schoal ‘ 5



8. (8) Solve7x+18=74
Foc = 26
T = 66 :%

(o) Selve4(2y-5)=32 : [@ Yof mwﬂ

Y
= —_—S =8 Wam (A
gy Qo3 23 @ 1
y=6s Yy = 65 N = @
' @)

(¢} SolveSp+7=>34~p}
5p +F= (2 —SF

- 5 |
gp 0 o

p= S . -:_[o €25 )
......... i J

g {Total 5 marks)

7
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9. Onthe grid below: 7 , 7 /\

)(

RN

4
/

N
AN
/
.
Mo

|
A
|
NP i //;r
\.L A
Jm (48] (48] 4/‘0\
]
!Qé:d
R
N

- {(a) Draw the two straight lines with equations 3y + 2x =12 aad y = x - 1.

CCHZ;L)
(é,@)

@

()  Use the graphs to solve the simultansous equations

y+x=12
e ¢ LE
R T A ———
D
(b) 3y+2x>12 p<x~1 <6

x and y are integers.

On the grid, merk with z cross (X) each of the four points which satisfies all

these 3 inequalities.
' 2)
@ mOLV(@O A:OV OJUZ = (Total 5 marks)

- Alfayn's School




g

Diagrem NOT -
accurately drawrd

ACQ and BCP are straight lines.
AB is parallel to PQ. '
AB=2cm. AC=3 cm. CO0=12cm. CP=10cm.

(2) The two triangles ACB and QCP are similar, Angle 4CB and angle OCP are equal since
fney are opposite angles, State another pair of equal angles giving the reason for their

(b} Work out the length of PO.

RN
= Q)
PR= =~ 2 g @ ;
(6) Work out the length of BP.= BC 4 P B |
VT BRC 2 o Bo=iox3
l . 2 > |2
| O RC=2-5 |

v

£ (o Bf-lorasous R
/' .

% BP IS

———r g
e r—

" Alleyn's Schoo! |

O |
EF: {Oﬂ%:‘— \&,S .




11,

DE = 6m.
EG=10m
FG=8m.

Diagram NOT
. accurately dréwn

Angle DEG = 90°. Angle EFG = 90°,

{a) Calculate the length of DG

(Give your answer correct to 3 significant figures. (f
[ | exvor :
K

{)GL-:. 0" + 62 @

pe=Vize . erfb

[ strudiie, 7.

Ce vweu

@
(b)  Calenlate the size of the angle marked x°.
Give your answer correct to one decimal place,
(g5 © = & @
(@
-1 %,
L = Cos [ @
19

3
(Fotal 6 marks)
10
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e s Iwo\”mc« Guahier, In Wge&tm

@ U={pack of 52 playing cards}, R={Red Cards}, H= {h_earts}, A={Aces}.

a) Draw a Venn Diagram to show the Universal set which includes the three other sets. Show
on your Venn diagram the number of elements that belongs to each part of the diagram.

qv
qr
24
L . 7
O macke lg% arror @ma;ukj%w(fzr;ii)ww_

b) Describe in words the set H ‘N 4

Nowe st Pss [ 252, e

[d’»QWOY\d / CQLL\Q 9, Sfadﬂ- QLD (1 mark)

¢) Describe mword the set R'NA

(1 mark)
- d) Specify whether the following statements are True (T) or False (F:
i @eRr E
H)HCR :'
(2 mark)

{Total 6 marks)

Alleyn's Schoo! : . 11



- pRA
13.  Useruier and compasses to construct an angle of 45° av@/ W i & vﬂg
You must show all construction lines. - {1] k@(y-

(Total 2 marks)

;@ mak for W Swsgh AT
@ WLOU\‘Q g@r J;lké;—ec TUVj %QG

Alleyr's School



14.  Solve the simultaneous equations

@m/xcw&a O@f coveecl _xe uxlfw\ CB&@@

() manla fpe S iy oo vauedelo
O Mok 8—0« ;A.th\nm % &metwj

ex-29=33 (D
4x+3y=9 @/
%3 e —6y = €= @ai(g' 2% -Fy=132
= 6 X2 20 +8u= g
@z & T +6y = & ,‘\ﬁ y
- %j = 75
g Qv
o= e — 2->® 12—~ Qy=66
& 3 Sipx ay =%
g':' 4'b> | -3y =39
| Y =-3
gD . ) _ .
Rt -2y ‘;35 6 4 (=33 b o "
—-——2,5 — 61:2} P= i =3...
=-3 L= .5 (Total 3 marks)
15,  Katy drove for 238 miles, correct to the nearest mile.
She used 27.3 litres of petrol, to the nearest tenth of a litre.
Peiro] . Number of miles travelled
etrol consumphian = Number of litres of petrol used

a) Work out the lower and upper bound for the number of miles that Kafy has drove:

237‘5 anc}ZSB’S miles @

b) Work out the lower and upper bound for the number of litres that Kary has used:

2725 ma 2735 e Q)

/ c) Work out the upper 5ound for the petrol consumption for Katy’s journey.
\/ @15‘ (Give your answer correct to 2 decimal places.)
o
A A
¥l O s
) —— g 3 ......... ’) ..................... miles per litre
2? y ?,6 (Total 4 marks)

fleyn's School
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14.

Qem

AB is paraliel to DC,

AD=%9cm, DC=3cm.

Angle ABD = 90°.

Give your answer comect to one decimal place.

a} Calculate the lengih of side BD.
@ym' 3 = ;@__Q—
3
RD = 3xfamids @

b) Calculate the size of angle BAD,

S i EAD = BD

Alleyn's Schoof

q
. _,Z;(\) - j%

DHagrarmn NOT

accurately drawn

135 @

(Total 4 marks)

74.

(2



17.

Alleyn's School

HCWﬂ 3906{ alten o W - o
e my mmw&mm
wow ot T goec (]

Mustrate each of the following inequalities on the grid below. Mark the region that satisfies all
three inequalities with the letter R: '

z+2v<§6 v
e o JF
CG;AG) B Y [_ '3{ T ]
e/ 4//\\\5/.\\ v/
HEENNNVL /44
NSS4y
‘\\\\1\\3/ /\ K//;(T
: ™ \\ . '( | x‘ L
-E'sxzi\ ;3\\—2 J\O | 2 \ \ ; =X 87 M4
a - s Y == 2 ¥
\\"‘\.\i\\\ A | | | ®.%/9*“k
SN NIER

O (5 marks)
@ cgvrﬁd(g\mouvxj '!'(R-

NI

15

S,



sl S ("(w |10 A’{l?)

Section B (2)

1) - (a) What is the exterior angle of a regular pentagon?

30 -

.

>

(b) Another regular shape has interior angle of 144°. How many sides does it have?

E;\)cww = lgo»l%‘(r-%' o (.’.‘_"i);‘f.'ff’ =\t
. lng- 3‘9 = Iﬁ"’#\

_?25% =10 Wl
Y
Answer:..........l.Q ................ (2)

2) From a point on the ground, Dave measures the angle of elevation to the top of a tree as
35° If the height of the tree is 8m, draw a diagram to illustrate the situation, and use it to
calculate the distance of Dave from the tree.




3) The follovﬁng table shows the number of students who use different abbreviations in their
text messages. Draw a pie chart representing the data.

Abbreviation Frequency
OMG 6 xis = 40
LOL 4 " (0
ROTFL 11 " 1{s
L8R 3 " 45
3o s
.4
L3R
oG
LOTFL Lol

(4)

4) The perfect scone 1s made with flour, eggs and sugar, with their weights in the ratio 5:2:4.
If a scone must weigh 242g, how much sugar do you need?

142 =727
n

<Ll = 333




5) Solve the -followin'g equations:

(a)3x —4=2x-—3

Ine

w=3

Answer:........ ){' :— ) l ............. {2)
.=
Answer: YL — . -3 ................... (2)
Answer:.....! . : 3 .............. (2)




6) This rectangle has been measured correct to the nearest cm. 7

Length

=1lcm

! Width = 4em

{a) What is the Upper Bound of the length?
(b} What is the Lower Bound of the width?

(c) What is the Upper Bound of the area of the rectangle? (

L«ﬂa AL (x4 = 4'?2%““‘
[{-Sx4.5 = | Anvinad 4-+.rw-fw.u.g.)

............................... (2)
7) For this question, a=3,b=-5and c=0.4
(a) Calculate ab+c
Answer:........ \A" L ............ (1)
(b) Calculate ac - b? M
Answer:...... 13% ............. (2) 5ﬂ
(c) Caleulate +10c—b+a
J4ss+3
Answer:.......... é .................. (2)

%Wh gzuare m’ﬂ:sfﬁv\ werk



